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Subject : English

Half Yearly Examination

English for Today (Page No : 1-36)
Vocabulary : (Page - 61, 62, 63 & 64)
(Word meaning, Making sentence, Number change, Re-
arrange, Dictation will be taken from the following words) :
A = (And —Alphabet), B = (Ball—Bye), C = (Count—
Clap), D = (Do—Door), E = (Elephant — Each), F = (Fine
— Fish), G = (Good morning —Good bye), H = (Here —
Hello), I = (It — Is), K = (Kite — Kitten), L = (Look —
Little), M = (Morning —Match), N = (Now — Name), P =
(Play — Pond), Q = Quilt, R = (Read — Right), S = (Say —
Sky), T = (Teacher — This), W = (With — Want), Y = (You
— Your).
Rhymes : (a) Good bye Good bye (b) Three little tigers

(c) Rain Rain
Paragraph : Myself

1% Term Class Test

Page No : 1—15

Word meaning

Rhymes : (4 lines) - (a) Good bye good bye
(b) Three little tigers

1* Term Class Test Marks Distribution

1. | Word Meaning : ( Five) 1 X5=05
.| Short Question : (Two) 2 X5=10
3. | Rhyme 05
Total : 20




[E—

Half Yearly Exam Marks Distribution

1. | Rhymes 10
2. | Word Meaning : ( Five) 2 X5=10
3. | Make Sentences : (Five) 2X5=10
4. | Fill in the blanks : (Five) 2 X5=10
5. | Re-arrange the jumble Words : 05
6. | Answer & questions : (Five) 3 X5=15
7. | Translation into Bangla : (Five) 2 X5=10
8. | Paragraph writing 10
9. | Reading : (To be worked out in the class) 05
10. | Dictation+Spelling : 10
(To be Worked Out in the class

11. | Hand Writing 05

Total : 100

Annual Examination
English For Today : Page 37 - 60
Vocabulary : Page- 61, 62, 63, 64

(Word meaning, , Making sentence, Number Change, Re-
arrange, Dictation will be taken from the following words) :

A = (Act --- Answer), B = (Bird --- But), C = (Colour ---
Cot), D = (Dog --- Dish), E = (Egg --- Eye), F = (Fish ---
For), G = (Go --- Go away), H = (Hen --- Home), J = (Jar ---
Join), L = (Left --- Lay), M = (Missing --- Mat), N =
(Number --- Not), O = (Open --- Outside), P = (Plant --- Pick
up), R = (Rain --- Ring), S = (Show --- Starting), T = (Tap --
- Then), U = (Unit --- Umbrella), V = Van, W = (Where ---

Watch), X = X-Ray, Z = Zebra.

Rhymes : (a) Counting cats (b) Ring Ring (c) One Two (d)

Counting Fishes
Paragraph : My Family

2 Y

2" Term Class Test

English for Today : Page No - 37—50

1.  Word meaning

2. Make sentences

3. Number change

2"! Term Class Test Marks Distribution
1. | Word Meaning : ( Five) 1 X5=05
2. | Make sentence : (Five) 2 X5=10
3. | Number chnage : (Five) 05
Total : 20
Annual Exam Marks Distribution
1. | Rhymes 10
2. | Word Meaning : ( Five) 2X5=10
3. | Make Sentences : (Five) 2 X5=10
4. | Fill in the blanks : (Five) 1 X5=05
5. | Re-arrange the jumble Words : 05
6. | Number change 05
7. | Translation into Bangla : (Five) 2 X5=10
8. | Answer & questions : (Five) 3 X5=15
9. | Paragraph writing 10
10. | Reading : (To be worked out in the 05
class)
11. | Dictation + Spelling : (To be Worked 10
Out in the class
12. | Hand Writing 05
Total : 100
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